

N r r  
10.100 110 -010- -

---

N



## 2 The HAM-based approach

$$u(x) = \sum_{n=0}^{\infty} u_n(x) \quad (1),$$

$$-p L[u, x; p - u, x] = p N[u, x; p]. \quad (2)$$

$$u_0(x) = \sum_{n=0}^{\infty} \frac{1}{p} \left[ \dots \right] \quad (3)$$

$$L[u, x; p] = \frac{d}{dx} \left( \frac{u}{x^p} \right) \quad (4)$$

$$N[u, x; p] = \frac{d}{dx} \left( \frac{u}{x^p} \right) - f(x) \quad (5)$$

$$\{x^n | n = 0, 1, 2, \dots\} \quad (6)$$

$$u(x) = \sum_{n=0}^{\infty} d_n x^n \quad (7)$$

rule of solution expression.

$$u(x) = x^n + a_{n-1} x^{n-1} + \dots + a_1 x + a_0 \quad (8)$$

it . . . T . r . r ,  $\neq p$

... r. t. t. r. ... (1)

$$u_m^n \cdot X = \sum_{k=0}^{N,m} d_k X^k. \quad (1)$$

... r. t. r. t. N, m. m. (1)

$$u_m^n \cdot X = \frac{k!}{k+n!} X^{k+n} + \dots + c_k X + c_0. \quad (0)$$

... r. t. (1), ... (0) ... L^{-1}

$$u_m^n \cdot X = \sum_{k=0}^{N,m} d_k$$

$r_{t+1} = t_{t+1} \cdot r_t + r_t \cdot t_{t+1} - t_{t+1} \cdot r_t - r_t \cdot t_{t+1} = E_t[r_{t+1} - r_t] + t_{t+1} \cdot r_t - r_t \cdot t_{t+1}$

### 3 Applications

$r_{t+1} = t_{t+1} \cdot r_t + r_t \cdot t_{t+1} - t_{t+1} \cdot r_t - r_t \cdot t_{t+1} = S_t \cdot t_{t+1} \cdot r_t + t_{t+1} \cdot r_t - r_t \cdot t_{t+1} = r_t \cdot (S_t \cdot t_{t+1} + t_{t+1} - t_{t+1}) = r_t \cdot (S_t \cdot t_{t+1})$  [.1](#)

(1)  $T_{j+1} = t_{j+1} \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$   
 $(1) r_{j+1} \dots t$

$$u_{m^*} X = \underset{0}{m} u_{m-1} X + R_{m^*} u_{m-1} X \quad (0)$$

$$u_{m^*} = \underset{j}{j} \cdot u_{m^*} = \underset{j}{j} \cdot \quad (1)$$

r

$$R_{m^*} u_{m-1} X = u_{m-1} X + \underset{j}{j} u_{m-1} X + \underset{j}{j} \underset{0}{m} X$$

$$- \underset{j=1}{j} u_{m-1-j} X \quad \underset{i=1}{i} u_i X u_{j-i} X \quad ( )$$

$t_{j+1} \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$   
 $m = \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$   
 $m = \dots (0) \dots$

$$u_j X = \underset{j}{j} u_j X + \underset{j}{j} u_j X + \underset{j}{j} X - \underset{j}{j} u_j X$$

$$= -h X - \underset{j}{j} X + \underset{j}{j} X - \dots X + \dots X - \dots X + \dots X \quad ( )$$

$S_{j+1} = t_{j+1} \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$   
 $(0) \dots$

$$u_j X = \frac{X^{k+1}}{k+1, k+1} - \frac{k+1 - X}{k+1, k+1} + \frac{k+1 -}{k+1, k+1} \quad ( )$$

(1),  $t_{j+1} \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$

$$u_j X = - \frac{X}{j} \dots X - \dots X - \dots$$

$$\times \underset{j}{j} X - \dots X + \dots X - \dots X + \dots X - \dots X + \dots X \quad ( )$$

$u_{m^*} X, m = \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$   
 $T_{j+1} = t_{j+1} \dots r_j r_{j-1} \dots r_1 t_j \dots r_{j+1} \dots r_1 t_{j+1} \dots t_{j+1}$

$$u_j X \quad \underset{j}{j} m$$





$$\begin{aligned}
 & \text{... } t \dots r \dots t \dots ( ), t \dots t \dots \dots t \dots r \\
 & \dots t \dots t \dots ( ) r \dots t r \dots \dots \\
 & \mathbf{u}_{\bullet X} = \mathbf{x} - \mathbf{x}. \tag{1}
 \end{aligned}$$

$$\mathbf{p} = \frac{\mathbf{p}}{\mathbf{x}} = \frac{\mathbf{p}}{\mathbf{x}} = \mathbf{p} = \mathbf{p} \tag{2}$$

$$(1) \text{ } \dots r \dots r \dots r \dots r \dots \mathbf{u}_{mX}, t \dots m \dots r \dots r \dots r \dots t \dots t \dots$$

$$\mathbf{u}_{mX} = m \mathbf{u}_m$$



**Table 2**

$r_{11}, r_{21}, t_{11}, t_{21} \in (0, 1)$

$x$	$r_{11}$	$r_{21}$	$t_{11}$	$t_{21}$	$10t$	$1-t$
0.1	0.001	0	.	.	1.	.
0.	0.00	1 10	.	.	1.	1.
0.	0.010	1 0	.	.	1.	.
0.	0.01	.	.	.	1.	.
0.	0.0 0	0	.	.	1.	.
0.	0.0	.	.	.	1.	.
0.	0.0	0	.	.	.0	1.
0.	0.0 1	1	.	.	.	1.
0.	0.01	.	.	.	.	1.1

$$t_{11}^* = t_{11} - t_{21}^*$$

$$u_{11}^* = \tilde{x}_{11} - x_{11} \quad (1)$$

The matrix  $r_{11}, r_{21}, t_{11}, t_{21}$  is a transition matrix. The matrix  $S$  is a transition matrix. The matrix  $L$  is a transition matrix.

$$L[x, p] = \frac{\partial L[x, p]}{\partial x} \quad (2)$$

$$\frac{\partial L[x, p]}{\partial x} = \frac{\partial L[x, p]}{\partial x} + \frac{\partial L[x, p]}{\partial x} - x^{-1}$$

$$= \dots, \binom{m}{k} \dots$$

$$u, X = \frac{u'}{f} \dots X + \frac{u}{f} \dots$$

$$= X - \dots X + \dots$$

$$+ \dots - \dots X \dots$$

$$t \dots r \dots (0) \dots$$

$$X = \frac{k! X^{k+1}}{(k+1)!} - \frac{X}{(k+1)!} \dots$$

$$t \dots r \dots r t r$$

$$u, X = \frac{X_i}{f} - \frac{X}{f} \dots + X - \dots$$

$$m = \dots$$

$$u, X = \sum_{k=0}^m u_{k0} X = \dots$$

$$r \dots t \dots (1, \dots)$$





